ﬂ

PAGE 1 OF 2

CASE IH 2052 DRAPER HEADS (BSN CC0014710)

CASE IH 2062 DRAPER HEADS (BSN CCCO0015328)
NEW HOLLAND 84C DRAPER HEADS (BSN PPP001119)
MACDON 973/974 DRAPER HEADS (2005 & PRIOR)

Complete Sets

Skid Quantity Reference

A B C D E F
Case IH 2052 21 White 83495 2 2 28 0 0 2
Case IH 2052 25' White 83496 2 2 32 2 0 2
Case IH 2052 30' White 83497 2 2 38 3 0 4
Case IH 2052 36' White 83498 2 2 46 2 0 4
Case IH 2052 39' White 83499 2 2 48 4 0 4
Case IH/NH 30' White 82577 2 2 33 9 1 6
Case IH/NH 36' White 82576 2 2 45 2 1 6
MacDon 974 21 White 83493 2 2 28 0 1 2
MacDon 974 25' White 83494 2 2 32 2 1 2
MacDon 974 30 White 82577 2 2 33 9 1 6
MacDon 974 36' White 82576 2 2 45 2 1 6
MacDon 973 21 White 83495 2 2 28 0 0 2
MacDon 973 25' White 83496 2 2 32 2 0 2
MacDon 973 30' White 83497 2 2 38 3 0 4
MacDon 973 36' White 83498 2 2 46 2 0 4
MacDon 973 39' White 83499 2 2 48 4 0 4

PO Box 7

Hutchinson, MN 55350

M AY WES 120 Eastgate Drive SE

1-800-788-6483
1-320-587-2322
1-320-587-6112 (Fax)

WWW.MAYWES.COM

Doc #: 10186_C



41569
End Skid Shoe

3"'X 18"
1/2-13 x 1-3/4 Bolt
1/2-13 Flange Nut
5/8-11 x 2-1/2 Hex Bolt
5/8 Washer
5/8-11 Nut
41568 41581 41570
] Skid Shoe Skid Shoe Skid Shoe
7-1/4" X 8-7/8" 5-7/8"'X7-1/8" 5-7/8"X 8-7/8"
Rivets Rivets Rivets
A - -
O
@] (@]
e (=] (=]
(<] (<] F
41566 ’ ’
Outer Skid Shoe
11-3/4" X 15" 41567
3/8—3]/%XL1 Ckovr\/rio%e Bolt Inner Skid Shoe
ock Washer " "
3/8-16 Nut ]7_]R(if/1ef)s< 23
1/2-13 x 1-1/4 Carriage Bolt
1/2 Washer
1/2-13 Nut

MAY WES

-

1-800-788-6483
1-320-587-2322
1-320-587-6112 (Fax)

120 Eastgate Drive SE
PO Box 7
Hutchinson, MN 55350

—

41569
End Skid Shoe
3y 18"
1/2-13 x 1-3/4 Bolt
1/2-13 Flange Nut
5/8-11 x 2-1/2 Hex Bolt
5/8 Washer
5/8-11 Nut

41566
Outer Skid Shoe
11-3/4"X 15"

3/8-16 x 1 Carriage Bolt

3/8 Lock Washer
3/8-16 Nut

WWW.MAYWES.COM

Doc #: 10186_C



	Sheet1
	Sheet2
	Drawing View2


